What are roots?

2 real roots

0 real roots

1 repeated real root
2 complex roots

I|
2 real roots (1 repeated)

3 real roots

1 real root (repeated) 1 real root, 2 complex roots

2x2—7x+6=0

2x—-3)(x—2)=0

3 7
Sumofroots=5+2=5

Product of roots= 2 X2=3

Sum and Product of Roots Page 1



2 3 2)=0
(e

ax?+bx+c=0
ax—a)(x—p)=0

ax?—a(a+pB)x+aaf =0

Sum of roots = — -

Product of roots= -

3x3 —10x2+x+6=0

Bx+2)x—1)(x-3)=0

x=——,x=1,x=3

10

Sumofroots=—§+1+3=?

Product of roots= —% X1x3=-2

3<x+§>(x—1)(x—3)=0

ax34+bx’+cx+d=0

ax—a)(x = p)(x—y)=0

ax® —ala+ L +y)x*> +alaf +ay + fy)x —aafy =0

Sum of roots = — -

Product of roots= — -

ax* +bx3+cx?+dx+e=0
ax-—a)x—-B)(x—y)(x—46)=0

ax*—ala+B+y+8)x3+-—-4aafyd =0

Sum of roots = — -

Product of roots= -
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degree Polynomial equation Sum of roots Product of roots

2 ax?’4+bx+c=0 c
T a
3 ax®+4+bx?+cx+d=0 _b _d
4 ax*+bhx3+cx?+dx+e=0 e
T a
5 ax®+bxt+cexP+dx?+ex+/=0 _b _f
a
degree Polynomial equation Sum of Product of
roots roots
2 axi+ax+a,=0 _4 %o
az az
3 ayx*+ax?+ax+a,=0 _& _%
as as
4  auxt+axd+axi+ax+a,=0 _4 %o
Qg Qg
5 awx’+axt+azxdtax®+ax+a, =0 _% _%
as as
n  aux"+a, x"1+etax+a,=0 _ %1 (_1)n@
an n
n An-1 Qo
n . _ n (_1)‘"._
a,x a, a,

r=1
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